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3) Transformer coupled multistage amplifier 

Advantages:

Disadvantages

1) cost , weight , size , and noise .

2) poor frequency response .

1 ) The coupling transformer is used to pass the ac signal from one stage to 
the next , while blocking the DC voltages .

2) DC isolation .

3) matching for maximum power transfer .

4) low dc power dissipation ( 𝑹𝑪 = 0) .
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3) Transformer coupled multistage amplifier 

DC Analysis:

𝑹𝑻𝑯𝟏 = 𝑹𝑻𝑯𝟐= 4K \\ 20K = 3.33K

𝑽𝑻𝑯𝟏= 𝑽𝑻𝑯𝟐= 
𝟒𝑲

𝟒𝑲+𝟐𝟎𝑲
(+8) = 1.33 V

𝑰𝑬𝟏=𝑰𝑬𝟐 = 
𝟒𝑲

𝑹𝑻𝑯

+𝟏
+𝟏𝑲

= 0.595 mA           

 𝒉𝒊𝒆𝟏=𝒉𝒊𝒆𝟐 = 2K
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3) Transformer coupled multistage amplifier 

Ac small signal equivalent circuit 
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3) Transformer coupled multistage amplifier 
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3) Transformer coupled multistage amplifier 
To find 𝒊𝒃𝟐

DC
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𝐼1 = −𝒉𝒇𝒆 𝒊𝒃𝟏
𝟓𝟎𝑲

𝟓𝟎𝑲+𝟓𝟎𝑲

c1 5 : 1 b2𝒊𝒃𝟐 = 5𝑰𝟏

To find 𝑰𝟏



To find 𝑖𝑏1

𝒊𝒃𝟏 = + 
𝟏

𝟒
𝑰𝟐

3) Transformer coupled multistage amplifier 
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𝑰𝟐 To find 𝑰𝟐

𝑰𝟐 =
𝑽𝑺
𝒉𝒊𝒆𝟏
𝟏𝟔

 𝑨𝒗 = 
𝑽𝑶

𝑽𝑺
= +𝟔𝟐. 𝟓


